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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1)

(1)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 380 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question

in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E - question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question
in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map ete. Such questions are to be attempted by Visually Impaired
Candidates only.
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|UE-®
U9 GEAT 1 W 12 ek Sgfershedid TR o 1 3k b T E | 12x1=12

1. e aemsi # Sresraar srafer HIfe e 3o s &9 1 g8t fawed g : 1
() ®EHHI
(i) STHIEE W iR TTsRA
(i) @ifera ge 1 foreres
Gv) Tt fova 3g &1 310

formea
A @, (1), Gi), (@iv) B) @), (1), Gv), ({i)
©) @), (i), Gv), (1) D) @), (v), (1), ([i)
2. M Y AL URETE ¢ 4 2001 T GF 9¥ T8 G T AT FohaT ? 1
(A) arffere B) HIAEEH
(C) IsdfhE™ (D) IS

3. IS g < 3T I3 o A1 7 TR TR AT |12 ShidT § a1 36 Tkt bl

HEA B ? 1
(A) YA ST B) BREM R =
(C) Tagam wgreft (D) Ik Teger

4. IS IATRIH IFTTER hY TN H, T A Tl AN b AHATARGd H F R paI A@re 7 1
(A) TS (B) e
(C) rumefi D) rfEmE
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) The Russian Revolution
(1) The Soviet invasion of Afghanistan

(ii1) The disintegration of Soviet Union

(iv) The end of the World War II

Options :
@) @, (), (i), @v) B) @), (D), (v), (iii)
©) @, (b, @v), 1) D) @, av), @), (1)

2. Which Central Asian Republic witnessed a civil war for ten years till 2001 ? 1
(A) Tajikistan (B) Kazakhstan
(C) Uzbekistan (D) Azerbaijan

3. A process in which the countries share ideas and information with their

rivals is called . 1
(A) Alliance Building (B) Arms control
(C) Confidence Building (D) Balance of Power

4. People who seek better economic opportunities abroad are called . 1
(A) Immigrants (B) Migrants
(C) Refugees (D) Non-Residents
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5. get-1 o1 ge-11 & Tt firem hifTe

-1 gei-11
a.  JTeTehiceh! |y i. 1997
b.  wifeaet Wehier ii. 1991
c.  JACTehiceh! UIAERW Wbl iii. 1987
d. I TR iv. 1959
e :
a b c d
A) iv i i i
@) i i i v
(C) i iv i il
®) i i v i

6. frferfaa woa o & wya feu e § 58 & w @1 arfiepem (A) a9 gE S FRU (R)
FI 3ifehd foham T 8 | 39 AT 1 AW B ufeu 3t i few mu fepedi (A), (B), (C)
3R (D) H ¥ 3T &9 4 Tl foehew g :

SRR (A) : 4, S 3 37 Ferrareiiet 27 b el SieveRTel 1 ST @ e
R

HRT (R) : 3TIRTOT o SR 34 <11 H TS 191 1 IcHsH e @TE T4 9T |

faremea :

(A) U (A) 3R HRU (R) THT &t & 3R HRT (R) 31hrpea (A) Y Tet ==men
7

(B) AfERYA (A) 3R RO (R) GHI 9&1 & 3T HR0T (R) TMhe (A) 1 T&1 me
T

(C) IR (A) & & SR HRT (R) T 2 |

(D) R (A) ToTd & SR SR (R) T 7 |
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5.  Match the List-I correctly with List-II : 1

List-I List-I1
a. Antarctic Treaty 1. 1997
b. Montreal Protocol . 1991
c. Antarctic Environmental Protocol  iii. 1987
d. Kyoto Protocol 1v. 1959
Options :
a b ¢ d
A iv i i i
@ 1 1 i v
©C u v 1 111
D) w1 v ii

6. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the appropriate option as the answer.

Assertion (A) : India, China and other developing countries were

exempted from the requirements of Kyoto Protocol.

Reason (R) : Their contribution to the emission of green house gases

during the industrialisation period was not significant.

Options :

)
B)

(©)
D)

2159/4/1

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct and (R) is not the correct explanation of

(A).
(A) 1is correct and (R) is incorrect.

(A) 1s incorrect and (R) is correct.
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7. WA % " U9 § SRR 1S 1 WA § Ugell SR eliehdiisieh AT o HIEd & il

TTHES ?
(A) dfyam s (B) A
(C) Brgu (D) =g

8.  YIRd 1 YW Y& AT 3TH HH UT 7
(A) TH.UE. B (B) TFARIA
(C) .91.%. g™ (D) IR.&. B

9. =93 form a9 foead wt sheett st o e 2

(A) 1950 B) 1954

(C) 1960 D) 1962

10. frefafaa we § 3t e fou e & fd & w1 Afiree (A) @ g 1 SR (R)
g 31fepd Topam T B | 39 U 1 e9H | ufeu R e few wu faswedi (A), (B), (C)
3R (D) # ¥ IW e &9 4 gl foehew g :

arfireRe (A) : first A9at the (MINF) 3 Toaaran & fote aerer a1frm v foparm o |
HROT (R) : ST & 91, ol BTt &1 shi 378 o 3T=Td Teh T TTetT ST 71 2T |
e

(A) IR (A) 3R HRU (R) FT T8t § 3T R (R) 31fiened (A) < Tl s
21

(B) AfERYA (A) 3R RO (R) GHI 921 & 31 HR0T (R) TMhe (A) &1 T&1 me
T
(C) firperd (A) 9t & SR &SR0T (R) Terd 2 |
(D) AR (A) TToTd & 3R HROT (R) T 2 |
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7. For the first time the communist party came to power through democratic

elections in which state of India ? 1
(A) W. Bengal (B) Kerala
(C) Tripura (D) Manipur

8.  The first Chief Election Commissioner of India was . 1
(A) S.L. Shakdhar (B) Sukumar Sen
(C) K.V.K. Sundaram (D) R.K. Trivedi

9. In which year did China annex Tibet ? 1
(A) 1950 B) 1954
(C) 1960 D) 1962

10. In the following question, Statement of Assertion (A) is followed by a

Statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : The Mizo National Front (MNF) started an armed

campaign for independence.

Reason (R) : After independence the Mizo Hill area was made an

autonomous district within Assam.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A) is correct and (R) is incorrect.

(D) (A)is incorrect and (R) is correct.
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11.

12.

13.

14.

15.

16.

17.

i | FrefaRaa 9 @ frm stufrafies smam @ sveifirn i sfa e & foe s

T e g 7 1
A) fofes (B) e
(C) et D) ==
I o fohd ST § “htell’ e 1 TFe § 7 1
(A) =g B) &
(C) 3TRUT=A U (D) AATTAvS

wUE-@ 6x2=12

Tt aTfeREar o @ A fepe shrt ufgerdt urfehta o Wy @1 forig fobem ? wmhifw | 2

“ HATdehaTg L& o fTT Uesh 141 Wal 8 |7 U <hl ¥ i | 2

AT % FHY U o qHeT Tt o &I 9 €l qigd 9 ? I 9 feflgu | 2

Hraifier Sa%eh HATRIeRT o TIT sl WA o [T o=l S| S0 37 WatTeh shal T ?
T HIfST | 2

IREITeh FL&T % Teh Teh o €4 H “IIfth Tei shi ST HIfT | 2
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11.

12.

13.

14.

15.

16.

17.

India made earnest effort for the early realisation of freedom of Indonesia

from the colonial regime of the . 1
(A) British (B) French
(C) Portugese (D) Dutch
‘Karbis’ community belongs to which State of India ? 1
(A) Manipur (B) Assam
(C) Arunachal Pradesh (D) Nagaland

SECTION - B 6x2=12

Why did the people of East Pakistan resent the domination of West

Pakistan ? Explain the reason. 2

“Terrorism is a new threat to security.” Support the statement. 2

Name the two models of development before India on the eve of

independence. 2

Why was India’s experiment with universal adult franchise described as

“bold and risky” ? Explain. 2

Explain ‘Balance of Power’ as a component of traditional security. 2
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18.

19.

20.

21.

22.

23.

Hee il i o a1 fawTie 1 39 HifT | 1x92=29

Qg -1 5x4=20

T 1 TdardT < Tud, fova & 3ufera gAdqu it #fea uhferfm framenfifve 1 4

“fid Jg o 3= % TG, WA = T o T 37 T ¢ T | =1 IGTeM <hl TRt

YA ] FFETd 3T | 4

(a) 1975 H R4 ¥ TN T 39Tt & Hg U fohedi < U131 (Heehl) bl IR

HIT | 4
Jera

() 1975 T TRG H T 7T AT o fehegl TR TROMHT bl IR HIFT | 4

(a) HTEHieh THETAT TR AEEh{dh AfT=H1ehT o e 3T I T8 HIT | 4
Jera

(b)  IREIRTT < Teheal G1 STRIeh TIOTTHT <hT ST HIT | 4

TRA 3 379 AT 1 QB STreRierait o1 faery fee ater & fear 2 7 el <1 Sereeon
) ggrdr ¥ o hifyu | 4
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18.

19.

20.

21.

22.

23.

Highlight any two recommendations of the Mandal Commission. 1x2=2

SECTION - C 5x4=20
Explain the challenging and difficult conditions prevailing in the world at

the time of India’s independence. 4

“India has maintained good relations with Russia after the end of Cold

War.” Justify the statement with four examples. 4

(a) Highlight any two lessons learnt from the imposition of Emergency in

India in 1975. 4

OR

(b) Highlight any four consequences of the imposition of Emergency in

India in 1975. 4

(a) Explain the difference between cultural homogenisation and cultural

hetrogenisation. 4
OR
(b) Explain any two economic consequences of globalisation. 4

How did India address the regional aspirations of the people ? Explain

with the help of any two examples. 4
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Qs —-¥ 3x4=12

24. = feuw Tu srerdror 1 e 9 ufed 3T frefafaa g & I fafaw

Afeger Tt o Ir=ata, Fateel qegi W 31 €I ¢ i wiskan 1 ssiieT %
T €t ST J wges UgEE o TR 37 faehT o Heg W higd U e § 38 ®9

forem | st geaht- RRre weter o w1 T | 4x1=4
()  geet-Teret aure fore ad gam o ¢

(4) 1990 B) 1991

(C) 1992 D) 1993

(i) TreAferiaa o & fore w1 1 w121 Tieiehiel o1 STerarai & ge & s o 7
(&) HIH T STIHT
(B) e febrew
(C) wH
(D) ==

(iii) Fr=fafaa @ @ %= o fasea fa it - ser 1 uftom w=&i ot 2
A) TwivEr21
(B) @da urei faema
(C) st W] 3TeTT-31er et
(D) T TeThicd

(iv) TEH & T3k o aed ° fAfetiad ° | formes S 3= wea o feog @it mam o 2
(A) ITEATvES HEEFR
(B) SRIT= HETAFR
(C) 3Tl
(D) 3TTEh{H HEHETR
2159/4/1 14



SECTION -D 3x4=12

24. Read the passage given below carefully and answer the questions that

follow :

The growing focus on environmental issues within the arena of
global politics was firmly consolidated at United Nations Conference on
Environment and Development held in Rio de Janeiro of Brazil. This was
also called the Earth Summit. 4x1=4

(1) In which year was the Earth Summit held ?
(4) 1990 B) 1991
(C) 1992 (D) 1993

(i1) Which one of the following countries was exempted from the

requirements of the Kyoto Protocol ?

A) USA

(B) United Kingdom
(C) France

(D) China

(i11) Which one of the following was not an outcome of the Rio Summit ?
(A) Agenda-21
(B) Sustainable Development
(C) Common but differentiated responsibilities

(D) Kyoto Protocol

(iv) The Ozone hole was discovered in the mid 80’s over the
(A) Atlantic Ocean
(B) Pacific Ocean
(C) Antarctic
(D) Arctic Ocean

2159/4/1 15 P.T.O.



25. WA o feu mu Teifaes Tar-amfs @ =1 TS S (A), (B), (C) 3R (D) % g 3ifhd
foren T 2 | R @ T TRl % IATYUR W 3T TSIl i YN hife 3T 370 ITR-
gfeeRt | $oh TEl A, SN < TS SR hi e H&AT qT Wt § fearm e wefia

e, i < 71 drfetent o w9 H fofgu ; 4x1=4
TR B ARRI | AR dfen | tsawmam
HU T TN T 318N

()

(i)
(i)
(iv)
() T8 Ty R S| & qd 7eeT . BT 6T TE-E o |

(i) I8 TS STET Y I W, T TH’ HETad T S 3T |
(i) % TS SEE I8 TUTHHT AT SE1GL IITelt 1 9y o |
(iv) T8 TS TET 1967 o faerm-ger gATat H S q1et bl Sgad STH T8 g371 o7 |
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25. In the given outline Map of India, four states have been marked as (A),
B), (C) and (D). Identify the States on the basis of the information given

below and write their correct names in the answer book alongwith the

respective serial numbers of the information used and the concerned

alphabet as per the format that follows :

@)
(i1)
(iii)

@iv)

2159/4/1

Sr. No. of the Alphabet Name of
information used concerned the State
¢))
(i1)
(iii)
@iv)

4x1=4

The State to which the former Congress President K. Kamraj belonged.

The State from where the phrase ‘Aya Ram, Gaya Ram’ originated.

The State to which former Prime Minister Lal Bahadur Shastri

belonged.

The State where the Congress Party did not get majority in 1967

assembly elections.

17
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e : Frafafea y wae gfvafem wdenfi=t & fom, w97 v 25 Fm wE | 4x1=4

(25.1) 39 UST 1 AW fAfau F&T 1967 o faum-aw g1 § HE" u1df ! 9gHd
HTH &1 g1 AT |

(25.2) 39 USA 1 AW fARge e g6l gameE e SeTg A geta 9 |

(25.3) Fore TSI | ‘3T W, TR U ST ST ST 5T AT 7

(25.4)  TohE TSI T Y % T 3181 . HIHUS HT TEE- AT ?

26. = feu mu iRt @ wEfa #iga &1 sremEa Fifve 3R frafafea e % 3w
et 1+1+2=4

I f

r - LI | ¥ ]
(i) e femman - ‘ama’ fore wye w1 wfaffra s g

(i) 1A | femman man 3% forw wgem w1 wfaffra s g ¢
(iii) TSTYE ZRI A S % s o H1 3238 & 7 T8 HITT |
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Note: The following questions are only for the Visually Impaired

Candidates in lieu of question number 25. 4x1=4

(25.1) Name the State where the Congress Party did not get majority
in the 1967 assembly elections.

(25.2) Name the State to which the former Prime Minister Lal
Bahadur Shastri belonged.

(25.3) The phrase ‘Aya Ram, Gaya Ram’ originated from which State ?

(25.4) The former Congress President K. Kamraj belonged to which State ?

26. Study the cartoon given below related to Sri Lanka and answer the

questions that follow : 1+1+2=4

r - nig . |

(1) Which community does the tiger shown in the cartoon represent ?
(11) Which community does the Lion shown in the cartoon represent ?

(ii1) What did the balancing act by Rajpakshe aim at ? Explain.

2159/4/1 19 P.T.O.



27.

28.

Ate : freferRe wo e et whenfofa o foro, gor G 26 F M W E |
4x1=4

(26.1)  #ficiohT < g1 @ wHEHET o A fARa |

(26.2)  forg w1 foga w9 fafaw |

(26.3)  #ficiRt fope o T gt T ?

(26.4) BN ¥ A A TR & Ay dEd H qeRy 6t it g 7 39w M
feIRaT |

Qg - 4x6=24

(@) I g i fava o1 v quTaeTelt g @red §9H aTel fhedl IR SRt
Tergetyor hifsra | 6

YT

(b) 1T TS Bl TATYT i o Tohel IR 321 o1 farverwor Hif | 6

(a) TIH Y G TG o TS AT 3 3Teyeh TTHfieh s o fetu yeamferd e w1
aﬂheﬁﬁﬁ| 6

YT

(b) 3fia g 1 TETt o w1g fove T o 317C foheei =R afterdl o1 9o it | 6
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Note: The following questions are only for the Visually Impaired

Candidates in lieu of question number 26. 4x1=14
(26.1) Name the two main communities of Sri Lanka.
(26.2) Write the correct expansion of LTTE.
(26.3) In which year did Sri Lanka get independence ?

(26.4) Name the country which mediated in the Ethnic conflict of
Sri Lanka.

SECTION - E 4%x6=24

27. (a) Analyse any four factors that make the European Union an

influential regional organisation of the world. 6
OR

(b) Analyse any four objectives of establishing the regional

organisations. 6

28. (a) Describe the composition of the United Nations Security Council and

the suggested reforms to make it more relevant. 6
OR

(b) Describe any four changes that occurred in world politics after the

end of Cold War. 6
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29. (a)

(b)

30. (a)

(b)

2159/4/1

1947 ¥ fafew sfogan & fayem & formgl = aftomi =1 9o Hifsg |
Fat

forfesr sfugan & fawrsm 6 gfsran & S wma 31 fondl 9 gaenati &1 avfa
FHINT |

I <1 31i¥repTsr Tefifees wifdei o sftar 3w weafa & fheel i wewaqel geei
ST <hIFT |

YA

1989 o §Te WRA H s TTas=4 shl Gh R o fehal ol ATH] ! sareat SHifS |

22



29. (a)
(b)
30. (a)
(b)

2159/4/1

Describe any four consequences of the partition of British India in
1947.

OR

Describe any three problems that were faced during the process of

partition of British India.

Explain any three important issues on which a consensus has

emerged among most political parties of India.
OR

Explain any three benefits of the coalition governments formed in

India since 1989.
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